Figure 8: Common failure modes of adversarial regularization. First row: the regularized model fails to infer the
correct form of the answer from the question, answering beach and wedding to questions that entail animal
answers. Second row: the regularized model struggles with questions that rely on real-world language priors; i.e.,
mustard is yellow, sunset is orange. Third row: salient colors in the image distract the regularized model from
attending to the correct image regions. Fourth row: both the baseline and regularized models perform poorly on
guestions where the answer relates to a localized image region (i.e., inside a TV) as opposed to the global image. In
these cases, the regularized model relies on generic visual features in the image in its inferences, while the baseline

model relies on language priors.



